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What is the difference between the compound interest and the simple interest
on a sum of Rs. 10,000 at the rate of 8% p.a. for a period of 3 years?

3 9 <ht SraTer o ToTT 8% Ui e skl G| 10,000 TU hY T TR Akl leg, AT
3T HTLTUT SATST ok Sl kT 37T T 22

a) Rs.199.12
b) Rs. 197.12
c) Rs.191.32
d) Rs. 195.76
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If the numerator of a fraction is increased by 25% and its denominator is

decreased by 10%, the value of the fraction is 15/16. What is the original

fraction?

TS Teh T o IT H 25% ohT Fleg hl AT § TR 38k T H 10% hY HHT 6l

ST &, A7 T8 ST | 15/16 B SATAT 2, A T80 T 32

a) 43/47
b) 27/40
¢) 11/13
d) 3/4



The two numbers are in the ratio 4 : 7. If their LCM is 308, then find thelr

sum.

ST EEATE 4 : 7 ATUTA W 1 AT IR oTgwH THTISA 308 T, AT ITehT I JTq

S
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100
131
121
142
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A thief is noticed by a policeman from a distance of 350 metres. The thief and
policeman run at speeds of 15 km/h and 20 km/h, respectively. What is the
time taken by the policeman to catch the thief?

Teh YfetareRH 350 Wiet ohY St & Teh =R 1 3T 81 T R TieTaehut shAwT: 15
FerHt/eeT 3T 20 TeRH1/E=T Rt 7T | SIS 21 TR T Tehg | IieTdehdt hl TR T
THT AT 82

a) 3 min 45 sec
b) 5 min 25 sec
c) 3 min 20 sec
d) 4 min 12 sec
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If the diagonal of a rectangle is 17 cm long and the perimeter of the rectangle

is 46 cm, then the area of the rectangle is:

7S ek AT ST TIeRvT 17 |HT SiaT § ST 3TTId hT URHTT 46 THT &, a7 A
HT Akt fehaaT 82

a) 120 cm’
b) 112 cm?
¢) 132 cm’
d) 289 cm?
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The fourth proportional to 14, 21, 28 is:
14, 21, 28 T ST THTUTIA &

46
40
42
44
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What is 20% of 30% of 40% of 50% of 3600?
3600 o 50% ok 40% % 30% h 20% KT AT FTd HITSTU)

45.2
43.2
41.2
47.2



SSC GD 2022-23

The curved surface area of a cylinder with diameter 20 cm is 1320 cm?. What

is the volume of the cylinder?

20 ST SITH Tl Teh o1 Rl TSRUSIT FTHET 1320 FHY? F1 ST T AT AT
2?2

a) 6800 cm’
b) 6600 cm’
¢) 6000 cm’
d) 6400 cm?
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P and Q started a business together and got profit in the ratio of 3 ¢ 5. If Q
invested Rs. 80,000 for 12 months, then P invested Rs. 72,000 for how many

months?

P 3R Q X Teh ©T Ueh STTHTT TRFH ToRAT 31X 3 ¢ 5 oF AT H 1T TR Teha)
It Q 7 12 wE o fo1U 80,000 Ta Ferer feRam 2, @1 P 72,000 TU=r foha 7eA
o foru fAaor feram 22

a) 6 months
b) 8 months
c) 9 months
d) 10 months
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IHA:B=5:4,B:C=6:5,C:D=7:10, then what is the value of A : D"

IRA:B=5:4,B:C=6:5C:D=7:10,dl A : D T A T 2?7

a) 21:25
b) 7:3

c) 21:20
d) 25:24
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Some men promised to do a job in 18 days but six of them became absent and
remaining did the job in 20 days. What is the original number of men?

D THUI - Teh T4 okl 18 & | Y07 ot T oo T3 effeh 3780 | 8: &1
HTUTET BT 7T 3T I J 20 &7 F STk T gt FohaT, @Y T&uT hl TRIvSTeR 6T
foRarT oft?

a) 30
b) 40
c) 60
A
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